Going from graphs to equations, and back! (Handout 5½)
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1) For the function g pictured above, come up with the equation for the function. Include the domain restrictions for each piece.

2) Evaluate each of the following (if possible), or explain why it is not possible.

a. g(-5)

b. g(-3)

c. g(4)

d. g(5)

e. g(8)

f. g(10)

g. g(100)

3) For what value(s) of n is g(n) = 3?

4) Explain why this is a function, even though it looks like g(-3) = 9 and g(-3) = 3 are both true in this relation.
5) Graph 
[image: image2.wmf]ï

î

ï

í

ì

>

-

£

-

-

=

3

,

7

2

0

,

2

3

1

)

(

x

x

x

x

x

h


6) Name one input value for h that would have no valid output value.

Quiz – Evaluating function graphs


Name _____________








Date ______________
Consider the function Z as pictured below:
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Decide if each of the following is true or false. If it is true, just write “True” next to it. If it is false, write an explanation for what is wrong. Read the graph carefully! Do not estimate anywhere. Part of this quiz tests how precise you can be as a graph-reader.
(1 point each; 10 points total)
Z(-5) = 0

Z(-4) = 1

Z(1) = 7

Z(7) = 1
Z(2) = (2, 2)

Z(6) = 1 and -4

Z(8) = -5

Z(9) = 6

Z(12) = -8

Z(14) does not exist
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